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	1- Proportion Z-Test
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	· assume SRS
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	2- Proportion Z-Test
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	· assume SRS

· independent samples

· 10n1 < population

· 10n2 < population

· 
[image: image11.wmf]5

1

³

c

p

n

    
[image: image12.wmf]5

)

1

(

1

³

-

c

p

n

      

  
[image: image13.wmf]5

2

³

c

p

n

    
[image: image14.wmf]5

)

1

(

2

³

-

c

p

n



[image: image15.wmf]2

1

2

1

n

n

x

x

p

c

+

+

=


	H0: 
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	Use 
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Goodness of Fit Test

Observed counts
	· assume SRS

· all expected counts >1

· no more than 20% of expected counts < 5

SHOW EXPECTED COUNTS
	H0: The sample distribution is the same as the population distribution
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Test of Independence

2-way table
	· same conditions as 
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	H0: The two variables are independent

or

H0: There is no association between the two variables
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df = (# rows – 1)(# columns – 1)
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Test of Homogeneity

2-way table
	· independent samples
· same conditions as 
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	H0: The distributions are the same for all populations (homogeneity of populations)
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	1- Sample T-Test
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	· assume SRS

· 10n < population

· for 
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 check data for skewness or outliers

· make a normal probability plot, if linear then data is ≈ normal

or

· make a boxplot & assess
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	Matched Pairs T-Test


[image: image37.wmf]n

s

x

D

D

,

,


(calculate paired differences 1st)
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	2- Sample T-Test
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	· independent samples

· same conditions as 1-sample t-test for BOTH SAMPLES
	H0: 
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df = from calculator
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df = from calculator

	Linear Regression T-Test
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* Computer Printout 
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SE

is given
	· SRS

· form of relationship is linear

· scatterplot linear

· errors independent

· residual plot

· variability of errors is constant

· residual plot

· errors follow normal model

· histogram of residuals

or

· normal probability plot of residuals
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df = n – 2


Standard Error (SE):  the estimate of the standard deviation

Margin of Error: the ± portion of a confidence interval, or half of the interval’s width


±(critical value)(SE)

Type I Error: rejecting a true null hypothesis


α = probability of Type I Error

Type II Error: not rejecting a false null hypothesis

Power: the probability of correctly rejecting a false null hypothesis 

- increase α, increase n (& decrease variation, extreme obs.)

_1175692327.unknown

_1175695475.unknown

_1360640428.unknown

_1360640473.unknown

_1360640494.unknown

_1360640622.unknown

_1360640460.unknown

_1175695895.unknown

_1207548459.unknown

_1360640416.unknown

_1270033744.unknown

_1207548457.unknown

_1175695504.unknown

_1175692722.unknown

_1175693086.unknown

_1175693396.unknown

_1175694100.unknown

_1175694427.unknown

_1175694790.unknown

_1175694857.unknown

_1175694350.unknown

_1175693518.unknown

_1175693870.unknown

_1175693889.unknown

_1175693885.unknown

_1175693546.unknown

_1175693417.unknown

_1175693169.unknown

_1175693363.unknown

_1175693012.unknown

_1175693053.unknown

_1175692914.unknown

_1175692516.unknown

_1175692687.unknown

_1175692482.unknown

_1175692449.unknown

_1175691785.unknown

_1175692084.unknown

_1175692117.unknown

_1175692003.unknown

_1175691311.unknown

_1175691646.unknown

_1175691235.unknown

_1175691246.unknown

_1175691225.unknown

